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Read the given statements and select the correct option.

Statement 1 : The process of separation of lint and seeds from harvested cotton fibres is called ginning.
Statement 2 : Process of making yarn from fibres is called spinning.

a) Both statements 1 and 2 are true and statement 2 is the correct explanation of statement 1.

b) Both statements 1 and 2 are true but statement 2 is not the correct explanation of statement 1

c) Statement 1 istrue and statement 2 is false.

d) Both statements 1 and 2 are false

2. Select an incorrect reason for separating components of a mixture.
a) To separate two or more different but useful components
b) To remove undesirable and useless components
c) To remove pure or harmless components
d) To obtain pure sample of a substance
3. Electric switch is a device which is used in
a) Making of an electric circuit b) Breaking of an electric circuit
c) Both (a) and (b) d) Neither (a) nor (b)
4, We can recycle water by
a) Reusing the water from washing clothes to cook
b) Discharging factory waste into canals and seas
c) Discharging sewage and waste materials into the ocean
d) None of these
5. The two organisms which breathe only through their moist skin are
a) Fish and frog b) frog and earthworm c¢) Prawn and earthworm d) fish and earthworm
6. Observe the given processes 1 and 2 carefully.
‘,;.--—_ = e —
Water boiling in a pan (Process 1) Water kept in an open shallow pan placed in the sun (Process 2)
Which of the following statements are correct?
l. Bubbles are formed in process 1 while no bubble formation takes place in process 2.
1. Process 1 is slow while process 2 is fast.
1. Process 1 occurs at 100°C only while process 2 can occur at any temperature.
a) land Il only b) Il and 1l only c)land lll only d) I, lland Il
7. Given below are the four food components (P-S) and their corresponding sources.

P — Meat, Fish, Egg Q - Butter, Ghee, Margarine

R — Bread, Biscuit, Potato S — Amla, Tomato, Orange

Select the incorrect statement regarding them.

a) Deficiency of P causes marasmus in children whereas deficiency of Q causes kwashiorkor in adults.
b) AmongP, Q, RandS§, 1 gram of Q produces the maximum energy.

c) Excess of R gets stored in body cells and is used for production of energy whenever required.

d) Deficiency of S leads to a disease in which gums swell up and bleed.
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8. Name the joint which exist between our skull and neck.
a) Hinge joint b) Ball and socket joint c¢) Pivot joint d) fixed joint
9. Rotation of Earth on its axis is an example of which type of motion?
a) Rectilinear motion b) Circular motion
c) Rotational motion d) Oscillatory motion
10. Name the plant whose leaves are modified to thin spines to reduce the loss of water through transpiration.
a) Water lily b) sugar plant ¢) cactus plant d) mango plant
11. Who of the following is correct?

Raj: Cooper has shiny appearance.
Raman : Iron has shiny appearance.
Rajesh : Wood has shine appearance.

a) Rajand Raman b) Raman and Rajesh
c¢) Rajand Rajesh d) All of these
12. In the following figure a disease caused due to mineral deficiency has been shown:

Which mineral deficiency causes this disease?
e ]

a) Calcium b) Phosphorus c) Iron d) lodine

13. This is the special organ of a climber plant which helps the plant in climbing. Name the organ.

a) Tendril b) Lamina c) petiole d) Leaf blade
14. The kidneys in human beings are a part of the system for
a) Respiration b) nutrition c) excretion d) transportation
15. During which of the following activities, the breathing rate is lowest?
a) Eating b) Sleeping ¢) Walking d) Running
Answer key

|1—b |2-c |3-c |4—d \s-b \6-c \7-a \8-c \9-c \1o-c\11-a\12-d\13-a|14-c|15-b|
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